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QUESTION 1
What is the Iterator process?
A. Iterator is the process that simulates distribution in case of Appliance failure

B. Iterator is the process that follow Appliance recovery and simulates what was a distribution if recovered Appliance
was alive

C. Iterator is the process that runs on the Orchestrator and calculates a distribution in case of Appliance failure

D. Iterator is the process that runs on the Orchestrator and calculates a distribution in case of Appliance recovery
Correct Answer: B

Iterator is the process that follows Appliance recovery and simulates what was a distribution if recovered Appliance was
alive. The Iterator process runs on the Security Management Server and simulates the distribution of the Security

Gateways if the recovered Appliance was alive. This helps ensure that the network remains secure and the traffic flow is
optimized.

QUESTION 2

What cannot be a reason for DETACHED status of Appliance when runningasg monitor command?
A. Appliance reboots

B. Appliance is a member of Security Group, but currently disconnected

C. Appliance installed with R80.20

D. There\'s an issue with Downlink cable

Correct Answer: C

QUESTION 3

On MHO-170 A. eth1-Mgmtl and eth1-Mgmt2
B. eth1-Mgmtl and eth2-Mgmt1

C. eth1-Mgmtl and eth1-Mgmt3

D. eth1-Mgmt3 and eth1-Mgmt4

Correct Answer: C

QUESTION 4
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In case of VSX: What is the right command to see overall performance details of all Appliances within the Security
Group and all Virtual Systems?

A. asg pert -v -p

B. asg pert -vs all -v -vv
C. asg pert -v

D. asg pert -vs enabled -p

Correct Answer: B

QUESTION 5

What is the default range of physical ports for downlinks on Orchestrator MHO-1407?
A. 25 - 47

B. 27 -47

C.1-48

D.1-25

Correct Answer: B
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